ENSAROREEET — 2 ~N— XBISH—F 20202818 (+) 1E/ASH

m-lf—;-% 3 KEF [I8FE] BE ‘ [Xiz] % ‘ [eErsm]  — | 4 (&) 10000 RE
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
WmEBR MK ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- . — N et _ RA—
TSR — 4 3 %&lﬁ) ¥ 528_;3 1-1 35.2| 87.4| 3 34) Eé@_}éﬁﬁi)
LHIRT4FTR BT —Txy R INT Y5
N . e FAEF AR . - . . THEL (BEXR)
LA w0 |88 S | Rt e e
R:r—775>0 B4 —FTx2~ [R5
— . R FHE . - . . fERB— (EX)
o H—y—F o o3 % (75’38777) 2-2 35.6 | 83.8 | 11 ::33) i
R:ZAv—hT77)a> BV NAHA7 YA FHS
N PN . - . . IWRER= (%)
B4 —L 4 3 i (5;3/483 3-3 35.6| 82.5 | 6 zzg? =
RRENN—Y BiYN=—F HHZX 4y K
S 3 | MERS 58.9 4-3 35.5| 81.2 | 1 476 | BHEZ (FER)
=L i ) (o | ) ¥vOybTr-n
LN=v7514 B:7zV>7 BRT7—LI
“ ;s 4 3 | HEAA 59.1 8-7 35.4 | 79.2 | 10 | 464 |fREEE— (KH)
hy /TR 56.0 (1 1/2) 0 BEEE (B)
R:F4—TTUTLTF BiINT EUFHT7—L
BERER = = (ER)
701l FpuF 3 ue (519/.22> 12-10 [35.2| 78.3 | 7 (53) /E\xﬁz
R:TF7TVRZ B8 H/FT4T7—X BREH#E S/ 77— L4
¢ LR sE - Rtz (El)
glglial 7HENY i 3 ol 5(93.)7 4-6 36.3| 74.4 | 2 zzg)e B
LIET7x4A7 B:70)RAXA BhHEREMRXSHIVETRG
= 5 i t 3 | BEEA 59.9 8-9 36.2| 71.4 | 13 | 414 |DOEERNE ()
9 6 TA4—T—=TIb— g 56.0 (1 1/4) (-12) B) INT7—L
LBALNT Ry IR B:I—=22hY7—Ib EEMS
T R = 3 | AllEH 1:00.0 7-7 36.4| 71.1 | 4 468 | REE (FR)
1017 12| X7F ST Z E 54.0 (3/4) 2 ?g;u—g
R:¥XF B:T-4buay [EA=bie)
N N GispapERud : = ELEE (EXR)
1lglial Vo guny 74 4 3 ke 1.(061>.o 8-10 [37.3|63.6 | 5 (4_9;) %%ﬁg
L:Z2%—h77)a> B:d—Yzo L1 T14577—14
s - N Y 1 : - HABE (FR)
12 5| HY /54T - i 3 e 1(;111:; 13-13 [ 36.6| 60.1 | 9 (4_623) *E;ﬁ%
RTUBA IR B:azFq AB +F
- S ZEBREA :01. - . . TEZ (ER)
1357/ 7V/Ey vx—1 i3 Tae (11 031/44) 14-14 | 36.3| 56.9 | 12 (510) bl
RNZ—ka1—-X BA412I9T7XIy b AR
5 e = i3 | AMEX 1:01.4 8-12 37.7| 61.1 | 14 | 414 |5 (EiH)
14[7 11| BHRT 1 — 451.0 (7€) (oo |HBRIE
SANXZTIVG B UF—RTLINZR 2T T T4
@ 21 L
£y 46.0-35.2
NO>a24 L | 12.3-10.8-11.5-11.6-12.1
® I—F—&EBIERL
13-7-
23—7F—
g =5r= (¥10,8)9(2,3,14)12(4,6,13,11)-1-5-7
Mal=5r= 10,8(2,9)3,14(4,12)6(1,13)-11,5=7
0 IR
B R 10 640M | | 71 K 3-10 3,430 | | # = 3-6 3,050M | | =& 3-8-10 142,770M
# B 10 320M 8-10 6,040M B E 3-10 13,080 EE 10-3-8 787,550
3 730M 3-8 12,6108 B H 10-3 17,510
8 1,760M

ABRICOVTHRTEEERROODE, THEB LS,




